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A (1036)  (1000) 0.6 1.9
1840 &+ 20CH 144 175 - 6.4
30CH 160 152 - 13
bal 4ocH 224 185 1.5 13
50CH 201 195 1.0 1.5
60A| 0] & 307 293 0.3 -
M =2 553 499 0.6 0.9
ofd 483 501 0.5 2.8
M2 193 189 0.5 3.0
371/¢4H 306 314 0.9 1.6
/s dE/MB 114 107 g -
X ZEE/HF 51 43 . -
Fiy2i/dd 160 151 - 0.6
/385 110 98 1.8 5.0
HE/EdFE/HS 102 98 - 1.9
H=of uxEd 278 264 - 2.4
0ol & 443 420 0.7 0.2
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18AM| O|&F 20CH 144 175 1.7 15.4 22.8 432 15.2 1.7
30CH 160 152 5.2 19.4 20.5 416 10.8 2.5
= 40CH 224 185 49 14.3 27.0 40.2 11.2 2.4
50CH 201 195 35 7.9 44.0 31.6 10.4 2.6
60A] Of 4 307 293 47 8.8 57.2 21.1 5.5 26
e == 553 499 5.1 12.3 34.3 39.5 6.3 2.6
° o-d 483 501 3.0 12.6 40.6 28.0 13.7 2.2
M2 193 189 5.2 13.0 32.5 39.5 8.8 1.0
471/81H 306 314 3.7 14.0 38.6 32.0 8.9 2.8
i/ s8H/ME 114 107 4.6 12.0 40.7 30.9 11.3 0.5
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9.9 13.2
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3.8 15.7
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HAH| (1036 (1000) 22.7
184| 0|4+ 20CH 144 175 18.3
30cH 160 152 21.5
L 4ot} 224 185 34.0
50CH 201 195 26.6
60M| 04 307 293 16.1
» =y 553 499 27.5
© o 483 501 17.9
N 193 189 20.9
7|/ 306 314 25.5
oE/SH/ME 114 107 23.0
x| Ze/HF 51 43 36.0
BM/2M/AY 160 151 15.6
/48 110 98 13.4
He/BF/HE 102 98 31.1
2= 6 6 34.3
A 17 19 24 .4
ok 21 22 16.1

Q5|8 14 13 -
Harst a5 39 39 14.2
X7\ e MY 342 329 3.9
olxH 308 293 59.6

zzx 196 184 4.6
J|E}EH 20 20 13.8
XX EEAS 52 55 10.2
oE 21 22 32.5
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12.4
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37.2
39.1
42.9
32.9
39.5
34.2
36.2
38.2
7.5
33.5
39.4
38.6
43.7
46.5
25.8

26.4
30.8
64.4
37.0
58.3
2.8
56.8
32.9
37.5
27.0
8.8
56.8
24 1
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7.4
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36.1
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otz g O XHg ST} LHgst= Moot gioish= ot Of% HHCHoCt s
Al = Al =

% % % % %

| (1036) (1000) 17.8 26.5 213 1.7 22.8

18M| 0|4+ 20CH 144 175 20.1 2.6 2.6 92 254

30ch 160 152 21.0 30.7 212 92 17.8

| 40CH 224 185 25.4 31.8 133 11.6 17.8
50CH 201 195 20.7 25.6 16.7 14.8 22.1

60AM| o|4 307 293 7.9 237 28.6 123 275

» =i 553 499 243 293 184 15.2 12.9
© of’d 483 501 14 237 24.2 82 32.5
Me 193 189 214 27.0 212 99 20.6

ZA7)|/2H 306 314 15.0 322 217 97 214

CHE/SH/MB 114 107 16.0 277 18.3 13.9 242

X< Z/AF 51 43 18.6 17.9 236 86 313
Riy2i/dd 160 151 134 20.1 283 15.3 23.0

/35 110 98 17.3 263 18.5 16.5 213

He/Z3F/85 102 98 286 19.6 144 98 276

4s4 6 6 175 64.7 17.7 - -

HoH 17 19 18.1 16.3 10.8 214 333

QP 21 22 226 35.8 17.5 - 24.1

|8 14 13 7.1 35.3 284 21.8 74

=stst 254 39 39 14.6 28.1 27.1 94 20.8
b [ =t eMd 342 329 54 18.0 328 20.8 23.0
o|zHd 308 293 26.8 334 10.5 47 246

EEH 196 184 264 289 20.2 10.1 143

J|EtZHE 20 20 153 328 16.9 - 35.0

AXZEUS 52 55 20.7 22.1 16.3 56 354

ADE 21 2 13,5 27.2 17.7 94 323

H=of nxEg 278 264 233 347 10.9 6.1 25.0

=alo| &l 443 420 12.8 21.8 28.7 16.0 20.7

ol 47 46 26.2 316 218 56 14.8

X% =0lo| g 85 8 113 273 229 16.0 225
xc} gz auxEg 41 40 373 33.7 99 23 16.7
7|Epd e 9 8 36.5 219 6.3 23.1 123

XX " s 116 121 12.9 233 238 113 29.7

Fgnt= 17 19 M7 5.4 15.7 54 31.8
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AR = AR =

% % % % %

HH| (1036) (1000) 38.1 15.7 18.5 14.7 13.1

18M| o4 20cH 144 175 40.4 14.6 13.1 11.8 20.1

30CH 160 152 51.7 14.3 8.4 13.3 12.4

Y 40cH 224 185 53.9 12.0 10.0 12.7 11.4
50CH 201 195 34.7 1.7 24.9 17.0 1.7

60| OfA 307 293 21.7 22.0 28.3 16.8 11.1

" =) 553 499 40.2 14.3 18.5 17.9 9.1
© ofd 483 501 35.9 171 18.6 11.5 17.0
M2 193 189 41.2 20.3 18.4 11.9 8.3

A71/91H 306 314 39.4 16.0 17.7 10.2 16.7

E/EH/ME 114 107 44 7 15.4 14.4 15.7 9.9

X% Ze/mF 51 VE! 32.4 6.0 22.4 21.2 18.0
BAEM/AY 160 151 34.4 15.9 20.8 171 11.9

/45 110 % 25.4 15.7 22.9 18.9 17.1

/B /ME 102 % 41.5 9.9 16.5 22.4 9.6

FARL] 6 6 48.1 17.7 16.8 17.4 -

A 17 19 73.8 10.1 5.4 5.2 5.5

oPd 4 21 2 44 4 6.9 34.9 13.8 -

2Us|E 14 13 35.8 14.7 = 42 1 7.4

s}t |50 39 39 39.7 15.6 7.5 13.4 23.9
A7|CHE 7 Mg 342 329 17.4 22.9 29.2 13.4 17.0
ofx} = 308 293 60.6 7.5 10.0 16.4 5.6

EZEH 196 184 31.3 17.5 21.8 15.6 13.8

J[EtZH 20 20 43.3 9.9 8.9 2.5 35.3

PNPECETE e S 52 55 52.0 14.4 3.4 12.2 18.0

HnE 21 2 22.6 23.7 17.9 13.1 22.7

Cigof nixg 278 264 54.0 9.5 9.8 20.7 6.0

20lo| & 443 420 23.2 22.8 25.5 13.1 15.4

ot 47 46 67.4 6.5 14.0 10.0 2.1

- =alo| gt 85 82 21.8 16.9 30.9 10.8 19.7
b1 &2l gixc A 40 54.5 24.0 11.8 4.8 4.9
7|t 9 8 448 12.5 - 18.6 24.2

XX Mgt gls 116 121 49 .2 7.0 11.4 15.7 16.7

o RE 17 19 35.8 - 10.8 5.3 48 .1
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